AIR GRIPPERS SERIES
oflo] a2|m wai=
INDEX

A8 EtY
UETIETIES -1 T
WEEE 9 Fo 290 A
Py

o{2{2 oo 12|H

ABMC{E EtY

N o F2EA

A

MA ARI| Hs
=
==

HEREE o
R+=

14

H

=]
=

nZy EtY

732
733
734

735

———— 735

EH
2
2 290

737

- 738

tha Efd

— 741

738

739

—_— 729

740

741
742

— 744

744
745

At 2 FEEs —————— 746
M Afix] Fgtuy ———————— 746
Rz Y OxE s ———— 747
HBAE| W MM AQIx| FHRuwy —— 749

At o FRHAM ——— 750
oXg Jelm ——— 751
WEREE 3 FQ 220 xiE 752
pyES-S 753

Mg 2l megs ————— 756

PEN 757
HA EC ElY

Mo FRYM ———————— 759

PPN 760
= Y7 Mats et

ANY o FRHY ———— 761

IS 761

MY U F2HN —————————— 762
|

= 762

At o FRHY ———— 764
pyE 765

/N =0 [A1257] Hol E=(Fi)-P.572] TorrAfe] Zo| = Hr=A| 210 FHAIL. |

731

PCSF
PCSH

PCMA

PCMB
PCMBR

PCMJ1
KCMJ

KCMB

PCMI

PCMOB
PCMOC

PCCG

PCCN

KSL

PCBOO

PCQA-AH

PCQVL

PCQI2

PCRPMO

PCRO

PRT

PSB

PSL
PSAR

PVBA-2100

el

o
HhIA2]

4 A%

430044

oot 32/

CHM

EETLH]

5450

2=

o]




kew | CIXIQISE mpx|2dat oFYE oix|S LelEhict

PCSF

PCSH

PCMA

PCMB
PCMBR

PO | @AIRILIZ ¢ 50~ 1602] HE MIZECEM SHESH

052 VLT e} B FYX2|E YT 0lE EXZEM
1ZY MiELICt

O MM AQIK| U ATE 7IXIS MEtE 4 USLICE

KCMB

PCMI

PCMOB
PCMOC

PCCG
PCCN

KSM

=
02

KSL

ogr

1z

PCHG PCH _50 M _OS

=58

12 fook
ogl
=

PCBOO

>
nx
o
i
ox
3
3

50 64 80 | 100 | 125 | 160
12 16 20 26 32

|m | ofo |oln |0

fu
IJJ
3
3
o]

PCQA-AH

|>

PCQI2 Al

>

= P E2|2 gr J2|y oiZLZ
S| AE37| ABGC EfQ) MZE 7tol=
Q 2 MPa 0.1~0.6 ofy
bl °C —10~+60 (FH) ANy 271 oiad els
0.05 50 : @50 M o Ofatl 7|2 LR
64 : 64

=2 80 : 80

H : Q& A2I%|, RHN : NPN 52, RHP : PNP 52 100 : ¢ 100

041] 08 [ 14 [ 24 [ a7 1123 ;}g‘g

PCQVL

>

40 | T | 0fo | 00 | Ofo

re

2
il

£
x
>
1
El
09!
=
)

b}
O
=
©
o
o

&
1)
)
@

L]
>
0o
o
R
@
o
=]
ot
o
Jor
2
i
[il}
40
u |
n3
X
i
I
=]

PRT

PSB
PSL
PSAR

PVBA-2100

Aaicy
Aiife)

RH EfQ
A% M AQIX|

PEUCIY] AN
oo} 22/

AC/DC:4~120V
CHM

746




X|$E (mm)

C min.

= CC max.

Am af7|x|
oFz

2] El0|E

— |

IR f

~__r'
3~5mmAEZS) |

PCHG-50
MM AQI%|

P TYPE
2= clcc|pD|E|F|[G|H|I|K N2 | Q1
PCHG-50 26.5| 30.5| 28 18 12 35| 35| 15 5 14.8| 38 5
PCHG—64 32 [38 |32 [20]13]4 [ 4 [19] 5 16.5| 44 5
PCHG-80 42 50 |39.5| 25 16 5 5 26 6 22 55 5
PCHG—100 52 62 | 46 32 20 6 6 32 8 24 70 6
PCHG—125 65.5| 77.6| 53.5| 40 24 85| 8 41 8 28.5| 85 6
PCHG—160 85 |101 | 67 50 32 9 11 55 10 32.5| 100 6
2L RR QQ s ™ Y|z
PCHG—50 |¢$3.4357C/BXZ0|5 P.C.D44|M3x0.5X Z/0|7 |$p3xZO0|8 M5 2 44
PCHG—64 [¢5.525,10C/BX20]|6 P.C.D56 [M4x0.7 X Z40| 8 |$4xZ0[10| M5 25| 56
PCHG-80 [¢6.425,11C/Bx 0|7 P.C.D70 [M5x0.8x Z0|9 |¢5XZ0[10| M5 3 70
PCHG—100 |6 6.625,11C/Bx2!0|8 P.C.D90 [M6 X 1.0 X Z0[12 | 5XZ0[12| PT 1/8 3 90
PCHG—125 |6 8.52+=,15C/B x2/0|9P.C.D112|M6 x 1.0x Z0[12 |$6xZ0116] PT 1/8 35| 112
PCHG—160 15C/B X Z0|9 P.C.D146 [M8 X 1.25XxZ0|20 |6 6 XZ0I20| PT 1/8 4 146

PCSF

PCSH

PCMA

PCMB
PCMBR

PCMJ1

KCMJ

KCMB

PCMI

PCMOB
PCMOC

PCCG
PCCN

PCBOO

PCQA-AH

PCQVL

PCQI2

PRT

PSB
PSL
PSAR

PVBA-2100

Haicy
Atz

A AR

PEQ L

oot 32/



PCSF

PCSH

PCMA

PCMB
PCMBR

PCMJ1

KCMJ

KCMB

PCMI

PCMOB
PCMOC

PCCG
PCCN

KSM

KSL

PCBOO

PCQA-AH

PCQVL

PCQI2

PRT

PSB
PSL
PSAR

PVBA-2100

Aaicy
Aiife)

LAES Y]

pElE]

o1 32/

x|z T2

7L EtY MZE 710|=

A2 : 0.5MPa~0.65MPa
iR = J2|Y oK + ATD2
A3 0.6MPao| AL AlFmix|

PCHG-50-0S PCHG—-64-0S
550 900
z 400 Zz 750 \\
il 350 ~< il 600
= o K
H 300 g2z x|~ H 450 — S2Z IHX|
i o}
< 250 W 500
0 10 20 30 40 50 0 25 50 75 100 125
oXI™ 20| L (mm) okX|IE Zol L (mm)
PCHG—100—-0S PCHG—125-0S
/O T T T 6000
= 3000 = 5000
ZT N z T
il 2500 [~ T i 4000
K - K
H 2000 — 2= Al H 3000 S~
1o of 22 mx|
<M 1500 <M 2000 TR
0 40 60 80 100 120 0 25 50 75 100 125 150
oXIE Zol L (mm) oXIE Zo| L (mm)
x| A
X|$£E (mm)

2 E1
‘
il o ‘ I
|
S N N - -
] S| ©
|
j—— 1S
D1
1= Al |B1|c1|Dl| El
PCHG-50 50 — 19.2 58.2
PCHG-64 64 45 | 5 25 72.6
PCHG-80 80 58 | 5 302 | &7
PCHG-100 | 100 7|5 325| 975
PCHG-125 | 125 97 | 5 37 113
PCHG-160 | 160 | 128 | 5 46 140

748

PCHG—-80—-0S
2000
> 500/~
= —
fil 000
K 2= otx|
= 500
iod
W 250
0 25 50 75 100 125

oHXIE 20l L (mm)

PCHG—160—-0S

12500
510000
i 7500/ — —
K
H 5000 —
1o} 22= mx|
< 2500 i i

0o 35 60 8 110 135 160
oX|E 20| L (mm)




KAt

At

PCHG-64~160

PCHG-50

7213

5l L1 L2 L3 L4 L5 L6 L7 L8 L9 L10
PCHG-50 — 12 3 5 3.5 8 — $3.4 4
PCHG-64 20 13 4 5 4 25 10.2 45 $4.5 4
PCHG-80 25 16 5 6 5 122 55 $5.5 5
PCHG-100f 32 20 6 8 6 14.2 5.5 $6.6 6
PCHG-125| 40 24 8.5 8 8 3.5 16.2 55 $6.6 6
PCHG-160| 50 32 9 10 1 20.2 6.5 b9 8

749

PCSF

PCSH

PCMA

PCMB
PCMBR

PCMJ1

KCMJ

KCMB

PCMI

PCMOB
PCMOC

PCCG
PCCN

PCBOO

PCQA-AH

PCQVL

PCQI2

PVBA-2100

Aoy
el

A AR

PEQ L

oot 32/

CHM

TIRHPR

5450

RE(#)

ShorE7|



